[ Efficiency vs vertpos |

—_
+—

efficiency vs ver

Ratio

0.8

0.7

0.

(o))

o
&)

0.3

0.2

0.1

................................................

fa) NI | | 1 A L i
1. *
+ .
f Tl +
1l e B 2 RO + 4+
H . +
0.95
.95

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_TT__original

Efficiend —— DQM_TT_initOnlyFWD0_PU
ICleNd __,__ DQM_TT_ initOnlyFWDO_PU

N
—

efficiency vs ver

Ratio

09/ =20 -10 0 10 20 30

1.2

il

TP vert z (cm)

[ Efficiency vs. sim PV z |

efficiency vs Sim. PV z

1

0521510 -5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


